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N.B.: 1) Question No.1 is compulsory.
2) Attempt any four from the remaining six questions.
3) Use of calculator is allowed.

Q1 Attempt the following

A) What is fuzzification? Explain in brief intuition method, .
B) Explain in brief reinforcement learning, é j}

C) Write a short note on mutation operator in GA. {\

D) Differentiate between Hard Computing and Soft Computing.

y
0.2 A) Whatis defuzzification? What are the different metheds of defu aﬂun“ﬁ'—‘ﬁ/ 8
process? _

B) Explain architecture of Adaline with its training algorithm.

Q3 A) UsingZadeh's notation, determine the A-cut sets for the given, rr
- 1’2 x3 _-,:5 B
B = [ 1 09 08 u ';* 0.6 ,q :

x1 x2 x3 x4
Express the following for A=0.4

1,{ 9 AUB 3 ANB 4. AuA g AAB @ ".,._.' ‘—
B) Explain In brief fuzzy approximate reasonifig. | 7

Q4 A) Explain in brief individual and Multi-parsonfuzzy decision making techniques B
with the help of suitable example.
B) Conslder two fuzzy sets R and SN
R= X1 04 0.6
X2 03 05 ©

Z1 22 Z3
S= Y1 1 04 03
Y2 07 02 04

system (F1S)? Explain it along with its types. 8
e between Genetic algorithm and traditional algorithm? 7
ues in GA. :

15
) {:msswer operator in GA
Travelling Salesman Problem

Operations on Fuzzy Relations
Special Networks
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